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RN ROBHARUHE>
i B HEEE 478 58 68 18 88 98 108 118 128 18 2R 3R
—fEEEY 96. 94 21.57 11.67 0.0 12.92 0 23. 14 0 0 21.64
BER K 0. 04 0 0 0 0 0. 04 0 0 0
Xl 96. 94 22 12 13 0 2 0 0 28
EREURE>
ThE 2 [Ef | H3T. 4
5335 [ m* T 3,259. 55
<HEEE AR 52 >
BE RBAH. R 478 58 68 18 88 98 108 118 128 15
BEE & =& & =” =” =” =® =® =® ] ]
EKT I 3 3 3 3 3 3 3 ] ]
[ K= BEK i & i i - i - g | &g [ &8
kE#HZE]
HMBEMTKS>E=2 )V IHE (L)
478 58 67 18 8R 98 108 118 128 15 28 3R
WA H 48108 | 5A118 [6A158 | 7/A13B |8A1/H [ 98148 | 108128 | 11898 |12811H| 18158 | 28218 [ 3A118
ERDERE #® & =® =® =® 3 3 " " ®
HH E25d HEfE BRAKBLE (3 RIE i Y
TRGEE m$/m — 12 11 12 11 22 11 12 12 12 12 12 12
TBiEMA 4 mg/L — 8 9 9 8 8 8 9 9 9 9 9 9
KFEA A 2 RE (pH) - - = = = — — — 7.5/21.6 — — — — —
ARSYL mg/L 0. 003U - = = = - - 0. 00035 jis - - - - -
ELTY mg/L | BHEhBNC & = = = = = — D(<0. D - - - - -
7 mg/L OIT[ = — — — — — 001K iE = = = = =
AlfiZ 0L mg/L 05| — — — — — — 005K i = = = = =
=3 mg/L OIUTF[  — — — — = — 00 = = = = =
KR mg/L 0._0005BAF[ _ — - — — — — 0005%i& [ — — — — —
T ILFILIKER mg/L B EhGNC & — — — — — — D (<0. 0005) - - - - -
PCB mg/L BiEhGLN & - — — — — — D (<0. 0005) - - - - -
rUyso0O0IFLY mg/L L0IUTF]  — — - - - - NUES — — — — —
TrS/00TIFLY mg/L L0IUTF]  — — - - - - NUES — — — — —
SHrOoOiZy mg/L 02U — - = = — — 002k — — — — —
(e A E S mg/L 0.002LLF — — — — — — 0. 0002k 5 — - - = —
2-SH/n00IXy mg/L 0.004LLF|  — = = - - —  [0.0004%:& — — — - -
T 1-ky)s00T5y mg/L 01T — = — — — — 0.001k 5% = = = = =
VAR ) mg/L 0. 0AUTF[ — — — — — — [0 0006k@E| — = = = =
1-S/BaIFLy mg/L i - — — — — 0. 01K = = = = =
2->/anIFLy mg/L 0.006LLF| — — - — — — 0. 004K 5 = = = = =
-vronJaRy mg/L 0.002LF| — — - — — — . i - - - - -
Foo L mg/L 0. 006U T  — - = = = = 00065k = = = = =
ROV mg/L 0.003LLF| — — - - - — ki — — — — —
FANCANLT mg/L 02LLTF]  — — — — — — . 002 — — — — —
N mg/L OIUTF[  — — — — — — 00138 = = = = =
Ly mg/L L0IUTF]  — — - - - - NUES — — — — —
NP S mg/L O5LUUTF[ — — — — — — 0055k i& — — — — —
s00xIFLy (REE=] mg/L 0.002LLF[ — — — — — 0. 0002k i - - - - -
2y RRUZDLEY mg/L -l = - - — — — 11 — — — — —
F5% mg/L - = — — = = — 0. 02k = = = = =
M ERR CEEEEE] ng/L - = = = — — — 1 = = = = =
FAAXL HRARE pg/L - = = = = — — 45 = = = = =
EHEE pg-TEQ/L [ - — — = = = 0.076 = = = = =
HMRRHTFKRS>E=4 ) Y IHE (Fi)
478 58 68 18 8R 98 108 118 128 18 28 3
R E H 45108 | 5A118 [6A158 | 7TA13B | 8A17/H [ 98148 | 108128 | 11898 |12A11H| 18158 | 28218 [ 3A11H
BOER = & " " " " X E:d E:d E:d " "
HHE 253 HEEE PRAKELE (EBIE i Y
BRIGHE m$/m - 32 23 30 22 21 29 28 28 29 30 29 28
BIEMA A mg/L - 9 8 11 1 5 8 8 7 8 8 8 8
KFEA A 2 RE (pH) - - = = = — — — 6.8/21.6 = — — - —
AESOL mg/L 0. 003UF - = = = - - 0. 00035 i - - - - -
ELTY mg/L | BHEhBNC & = = = = = — D (0. 1 - - - - -
E mg/L OIUTF[ — — = = - — NES = = = = =
Ao OL mg/L O5LIF] = - = = = = 05ki# | — = = = =
=3 mg/L 0T — = = = = - 00! = = = = =
KR mg/L 000051 F| _— = - - - — [0 0005%k@m| — = = = =
T L ILIKER mg/L BHEhGNC & — — — — — —  [ND(0. 0005) - - - - -
PCB mg/L BHiEhGLNC & - — — — — —  [ND(0.0005) - - - - -
rys00IFLY mg/L L0IUTF]  — — - - — - NES: - - - - -
Fh700TFLY mg/L OIUTF[ — — — = = = NES = = = = =
Soonrsy mg/L L02UTF|  — — - — — — . 002K % - - - - -
i fE R % mg/L 0.002UTF[ — = = = - — [0.0002:k & = = = = =
WESVI--EX ) mg/L 0.004LF[ — = - - - —  [0.0004kE|  — = = = =
1 i-ryboonzay mg/L 01UTF[ — = - - - - 000k = = = = =
d2-rUboazay mg/L 0. 04T — = = = = — [0 0006k&E| — = = = =
REPYA=T=EX AV mg/L i = - - - - 0. 01K - - - - -
2~/ o0IFLY meg/L 0. 006U — = = = = = 0004k % - - - = =
3-sonojaRy mg/L 0.002LLF[ = — - - - - 0. R — — — — —
FO5 LA mg/L 0.006LLF[ — — - - — — 0. ES — — — — —
TRTY meg/L 0. 003UF|[ — = = = = — [0.0003%; = = = = =
FENVHLT mg/L 0.02LUTF| — — — — — — . 002K - - - - -
oty mg/L 0.0ILUTF| — — — — — - i - - - - -
Ly mg/L 0.01LUTF| — — — — — - i - - - - -
1L4-OFFH> mg/L 0.05LIF| — — — — — - 5K i - - - - -
sa0xFLy GBRE=] me/l 0. 002U F[ — = = = = — [0.0002%&E| — - - = =
2YRRUVZDILEY mg/L -l = = — — — — 0. 08K i = = = = =
FE5% meg/L B — — — = = 05 - - - = =
M ERR CEEBEE] ng/L - = — — = = — 0. 1Ki# - - - - -
FA AL HRARE pg/L o - - - - - 1.7 - - - — —
EHEE pg-TEQ/L [ - — — = — — 0.076 - - - = =




B TARS>E=S ) VTHE (FH)

48 5H 68 718 8H 98 108 118 128 18 28 38
RRAH 4F108 | 58118 |6A158 | TA13E [8A17/H | 98148 | 108128 | 11H9R [12A11R| 1AI58 | 2H218 [ 3A11R
BN 7 Fd Ed Ed Ed Ed Ed Ed Ed ®
HH £ HEE FOKAL E (FRIE D 5E Y
BREEE mS/m — 20 7 16 15 12 19 21 21 21 20 21 21
BIEMAF> meg/L — 10 4 7 4 8 6 6 8 6 7 7
KFEA & 2 RE (pH) - - — — — — — — — — — — —
AESHA mg/L 0. 003LLF = — — = = = = = = = —
D mg/L BHEhBNI & — — — = = — = = = — —
En) mg/L 0. 01T — — — — — — — — — = =
Ao 0L me/L e = = = = = = = — = —
Ex mg/L 0. 0ILF|] — — — — — = — — — = —
#okER mg/L 0.0005LLF| — — — — = = = = = - —
T ILXILIKER mg/L wmHshanC & — — — — — — = — — = =
PCB mg/L wmHEhiAWC & — — — — — — — = — — =
[WPEEEE 1Y) mg/L 0.01LLF|  — = = = — — = = — — —
ThSZ00TFLY mg/L 0. 01LIF[ — — — = = = = = = — —
BYEI-EX' P mg/L 0. 02LF[ — — — = = = = = = — —
LA ES mg/L 0.002LLF[ — — — — = = = = = - -
WS VTE X mg/L 0. 004LLF[  — — — — = = = = = — —
A-rysooxay mg/L 0. 1UT — — — — = = = = - — —
2 [ WVIEEEX ) mg/L 0.04LLT — — — — = = = = - — —
> mg/L N — — — — — = — — — =
. mg/L 0.006LLF[ — — — — = = = = = - -
3-vynoJoRy mg/L 0. 002LLF[ — — — = = = = = = - —
FO5 L mg/L 0. 006 A — — — — — — — — = - -
ROy mg/L 0.003LLF|[ — — — — = = = = = = —
FERCANT mg/L 0. 02LF[ — — — = = = = = = — —
Y mg/L 0. 01T — — — — — — — — — = —
Ly mg/L 0.01LIF|[ — — — — = = = = = - -
14-SAXY > me/L 0.05LF|  — = = = = = — = — = —
JO0IFL> (GBIRE=] meg/L 0002 F]  — = = = — — — = = — —
2IRRUVEZDIELEY mg/L - — — — — = = = = - — —
F5% mg/L - — — — — — = — = = - —
EHREERRVEHEAREE] mg/L - — — — — — — = — — = =
AL AXL UBERRE pg/L - = — — — — = — — — = =
ELES pg-TEQ/L TUF = — — — = = — = - - —
<RIk >
48 5H 6H 71H 8H 9A 10H 118 12H 1A 2R 3H
RIH H 48108 | 5A118 [6A158 | 7TA13A [8A17/H [ 9A148 | 10A128 | 11A98 |[12A11H| 1A158 [ 28218 [ 3A11H
EE0RE E & & & & & & 3 3 3 ® ®
HH B HETE FKILE
ARSOL mg/L 0. 03T = — = = - 0003k = = - = —
| 227> mg/L LT — — = - - = 01k - - = = =
ﬁ%%’l@é mg/L 1T — — — — — — 0. 1K — = = = -
mg/L 0 1BF — — - - - — [ 0.001ki& - - = = =
/\{ﬁb 2PN mg/L 0.5LF — — — — — — 0. 0055k& — — — = =
3 mg/L 0 1BLF — — - - - = 0. 01 %5 - - = = =
‘Ff“‘fkﬁi mg/L 0. 005LLF — — — — — — 0. 0005k % — = = = -
T ILFEILIKER mg/L BREShABEVNI E — — — — — — _[ND(<0. 0005) — — — — —
RYEIEET =)L mg/L 0. 003U F — — — — — — 0. 0005 ;% — — — — —
Soooray mg/L 0.2UF — — — — — — 0. 02K % — — — — —
ZERES mg/L 0.02UUF — — — — — — 0. 002k i — — — — —
1.2->5 00148 mg/L 0.04UF — — — — — — 0. 004k — — — — —
LI-V/BATF L me/L 1L - - - = = = 002k = = = = =
SZ-1.2->hanIFL mg/l 0.4LF — — — — — — 0. 04K 5 — — — — —
1.1.1- |~U71:||:|1a> me/L 3UTF — — — — — — 0.03%% = — — — -
1.1.2-kY0ox2y mg/L 0. 06LLF - - — — — - 0. 006 i — — — — =
r)ooOIFLY mg/L 0. 1LLF — — — — — — 0. 01k — — — = —
7‘— SH/OOIFLY mg/L 0. 1UF — — — — — — 0.01%% = — — — -
/7EIEI7EI'\/ mg/L 0.02LLF - - - - - - 0. 0025 i — — — — —
L 0 1L — — — = — — 0. 01kt = — — — -
L 0.06LLF — — — — — — 0. 0065 i — — — — —
L 0.03LLF — — — — — — 0. 0035 i — — — — =
L 0. 251 — — — = — — 0. 02K % = — — — -
L 01T — — — = — — 0. 01k = — — — -
L 15LLF - - - - - - 0.09 — — — — =
L 50U - - - - - - 0.32 — — — — =
L N = = = = = = 17 — = = — -
L 2008F — — — — — — 0. 05k i — — — — —
/,&F‘ L 5.8~8.6 1. 1. 1.1 1.5 1.8 1.8 8.0/21.6 1. 1.9 1.8 1.9 1.8
B RERE mg/L 0LLTF 0. 0. 0.55:% | 0.5K [ 0.5k | 0.5k [ 0.5KiH 1. 0.5 | 0. 55 | 0. 5K | 0. 5K
RERE mg/L 0LLTF 2. 2. 3 3.5 3.9 3.7 4.2 4. 4 3.3 3.2 3.2
%§§ mg/L 0LLT 1XR#& 4 1K 1 [EXEEY 1K E-ERETERET EREY ] 1
,Eﬁ [E mg/L 5L — — — — — — 0.5k — — — — -
5 (EJ*L% Eﬂa’@) mg/L 30LLF = — — — — — 0.5%% - — — — =
ST7 L mg/L SLLT - - - — — — 0.1k — — — = =
E] mg/L 3L - — = — — = 0.01%% — — = = =
EX mg/L 201 — - - - - = [(IES - - = = =
AR mg/L 10LLTF — — — — — — 0.3k — = = = -
BREEI Y mg/L 10LLF — — — — = = 0. 1%i% = — — — —
EVA=PN mg/L LT — — — — — — 0. 005k % — — — = —
RIBEBH KRR & /mL 3000LLF — — — — — — 0 = — — — =
£2EFH mg/L 120 (ARFH60) LT[ — — — — — — 2.4 — = = — -
2YA mg/L [16 (ARFHS) LT - - - - - - 0.19 — — — — —
1.4-SAFH > mg/L 0.5UF — — — — — — 0. 05K 5 — — — = —
A AXL VEERARE pg/L - — — — = = — 36 — = = — —
SHZE pg-TEQ/L 10T — — — — — — 0.0076 — — = — -




